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Problem 

• Construct an AVL tree having the following elements

H, I, J, B, A, E, C, F, D, G, K, L
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1. Insert H, I, J On inserting the above elements,

especially in the case of H, the

BST becomes unbalanced as the

Balance Factor of H is -2. Since

the BST is right-skewed, we will

perform RR Rotation on node H.
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1. The resultant balance tree is: 2. Insert B, A.

On inserting the above elements, especially in case of A, the BST becomes unbalanced as the

Balance Factor of H and I is 2, we consider the first node from the last inserted node i.e. H.

Since the BST from H is left-skewed, we will perform LL Rotation on node H.
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1. The resultant balance tree is:
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1. Insert E

On inserting E, BST becomes unbalanced as the Balance Factor of I is 2, since if we travel from E
to I we find that it is inserted in the left subtree of right subtree of I, we will perform LR Rotation
on node I. LR = RR + LL rotation
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